BAEEZAR—LTFHEE 2022101~ B[

g | Bk B mmn| v —C x| moma | 2ur7 | nevrs| Opgis| nEma | s | nenas| R BEAIE| EEE | 8 |nzerxw| BCAIEZE
B=E B EE AE (1) | & ()| mewsms | BB INE| wroornt | semnms | smme (D | nawzns | nsszmg | s &5 55t
H%5 | H%E | H%5 | H4E | H&E | B | A% | A% |secm|ssmcos|sseon)]  ERFE B% | HZE |BR#@oR)| BZE(30AR)
1R 0 300] 257,100 30,900
2R 370 390] 243,300 44,700
B3 ME-1 370 650] 235,500 52,500
=f#1| 5730 | 60 130 | 180 | 220 | 110 | 500 | 1100 |16,140| 5,250 | 3,110 |FEIEEM-2 370| 1,360] 214,200 73,800
EXH® 197,100 90,900
2E|518 855 | 1,445 175,200 112,800
3ET AR 153,300 134,700
1 ERRE 0 300] 277,782 33,198
2R 370 390] 263,982 46,998
EXE 370 650] 256,182 54,798
=.#2| 6410 60 130 | 180 | 220 | 110 | 500 | 1100 |[17,840| 5,800 | 3,440 |FEIEEME-2 370 1,360] 234882 76,098
HEAHE 217,782 93,198
2% 1518 855 | 1,445 193,584 117,396
3E|&1E 169,386 141,594
1R 0 300] 299,364 35,596
2R 370 390] 285,564 49,396
ZRE FE3EFE-1 370 650 277,764 57,196
=.#3] 7120 60 130 | 180 | 220 | 110 | 500 [ 1100 [19,600| 6,380 | 3,780 |&E 3 EEME-2 370 1,360] 256,464 78,496
(2~4N) HEAXHE 239,364 95,596
2E |58 855 | 1,445 212,768 122,192
3E|&1E 186,172 148,788
1 ERRE 0 300] 320,046 37,894
52 BB 370 390] 306,246 51,694
EXE 370 650] 298,446 59,494
=4 #4| 7800 60 130 | 180 | 220 | 110 | 500 [ 1100 [21,300( 6,930 | 4,110 |E3EME-2 370| 1,360 277,146 80,794
EAHE 260,046 97,894
2E|548 855 | 1,445 231,152 126,788
3E|&1E 202,258 155,682
%1 B 0 300] 340,413 40,157
YA 370 390] 326,613 53,957
EXIS 370 650] 318,813 61,757
=5 8470 | 60 130 | 180 | 220 | 110 | 500 [ 1100 [22,970| 7,470 | 4,430 |E3EMEE-2 370 1,360 297513 83,057
EAES 280,413 100,157
2E|&18 855 | 1,445 249,256 131,314
3Z|&18 218,099 162,471




BAEEZAR—LTFHEE 2022101~ B[

g | Bk B mmn| v —C x| moma | 2ur7 | nevrs| Opgis| nEma | s | nenas| R BEAIE| EEE | 8 |nzerxw| BCAIEZE
B=E B EE AE (1) | & ()| mewsms | BB INE| wroornt | semnms | smme (D | nawzns | nsszmg | s &5 55t
H%5 | H%E | H%5 | H4E | H&E | B | A% | A% |secm|ssmcos|sseon)]  ERFE B% | HZE |BR#@oR)| BZE(30AR)
1R 820 300] 307,170 59,960
52 FR B 820 390] 304,470 62,660
E3EME-1] 1,310 650] 281,970 85,160
Ei&1]6610| 120 | 230 | 220 | 460 | 110 | 500 | 1100 |19,430| 6,320 | 3,750 |E3&ME-2| 1,310 1,360] 260,670 106,460
EAXHE 237,240 129,890
2E|518 2,006 | 1,445 210,880 156,250
3ZI&iH 184,520 182,610
1R 820 300] 328,149 62,291
2R 820 390] 325,449 64,991
EIERE-1] 1,310 650] 302,949 87,491
= ##2| 7300 120 | 230 | 220 | 460 [ 110 | 500 | 1100 |21,150| 6,880 | 4,080 |EIEEME-2] 1,310[ 1,360] 281,649 108,791
HEAHE 258,219 132,221
2% 1518 2,006 | 1,445 229,528 160,912
3E|&1E 200,837 189,603
1R 820 300] 350,343 64.757
2R 820 390] 347,643 67,457
a1=wk FIEM-1] 1,310 650] 325,143 89,957
E4#3| 8030 120 | 230 | 220 | 460 | 110 | 500 | 1100 |22,970| 7,470 | 4,430 |E3E&M-2| 1,310 1,360] 303,843 111,257
(A=) HEAXHE 280,413 134,687
2E|548 2,006 | 1,445 249,256 165,844
3E|&1E 218,099 197,001
1 ERRE 820 300] 371,925 67,155
52 BB 820 390] 369,225 69,855
E3EME-1] 1,310 650] 346,725 92,355
EA#4| 8740 120 | 230 | 220 | 460 | 110 | 500 | 1100 |24,730| 8,050 | 4,770 |E3E&ME-2| 1,310 1,360] 325425 113,655
EAES 301,995 137,085
2E &8 2,006 | 1,445 268,440 170,640
3E|&1E 234,885 204,195
%1 B 820 300] 392,598 69,452
YA 820 390] 389,898 72,152
EIERREE-1] 1310 650] 367,398 94,652
Ef 5] 9420 120 | 230 | 220 | 460 | 110 | 500 | 1100 |26,430| 8,600 | 5090 |E3E&m-2| 1,310 1,360] 346,098 115,952
EAES 322,668 139,382
2E|548 2,006 | 1445 286,816 175,234
3Z|&18 250,964 211,086




